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B. Sc. (Part 111) EXAMINATION, 2021
MATHEMATICS
(Optional)
Paper Third (D)

(Programming in C and Numerical Analysis)

Time : Three Hours ] [ Maximum Marks : 30
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Attempt any two questions from each Unit. All questions

carry equal marks.
TPIe—1
(UNIT—1)
1. (@) Fefaieq w dfena fewlrT foRey
(i) difSdd sifovex
(i) PIIAA AR
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Write short notes on the following :
(i) Logical Operator

(i) Conditional Operator

AT BT &=l S PR B o0 U YaIg 3IRG 913 |
Draw a flow chart to find the area of rectangle.
ffeiRad R e fewforr foRe -
(i) wR
(i) ST <™
Write short notes on the following :
(i)  Functions
(i) Data types
TPhIE—2

(UNIT—2)
TS QTR | BT AT Rl gY A & TS Arfera
Hy B A x=95 & ol T BN :

X y=f()
7 3
8 1
9 1
10 9
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Using Lagrange’s interpolation formula, find the value

of y for x = 9.5 from the following table :

X y=1(x)
7 3
8 1
9 1
10 9

IR I T6 DI |

Evaluate 12 to four places of decimal by using
Newton-Raphson method.

Rpae & 1 e @1 e av jlﬁ A T

PINTT (G RTIR IRIA AR |
Using Simpson’s % rule to find J.gli—xx by taking ten
equal parts.
3PIE—3
(UNIT—3)
ol [af gR1 FfRed WRas e Mar o
gl PINY -
X+2y+3z=5
2X+ 8y +222 =6
3x + 22y + 82z = -10
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Solve the following system of linear equations by
Cholesky method :
X+2y+3z=5
2X+ 8y +222=6
3x + 22y + 822 =-10
UfeR fafy &1 STIRT ax FHfRId g & Fa9 J9

343‘3%@343”!?13? §ﬂ—d€f§f?|(3:
1 2 0
A=(2 1 0
0 0 -1

Find the largest eigen value and corresponding eigen
vector of the given matrix :
12 0
A={2 1 0
0 0 -1
frefoRed FiieryT & e @1 TeE-ded RGN
fafey & Bal aﬁﬁm :
10x+y+z=12
2x+ 10y +z=13
2x+2y+10z=14

Solve by Gauss-Seidel iteration method, the following
system of equations :

10x+y+z=12
2x+ 10y +z=13
2x+2y+10z2=14
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SPIE—4

(UNIT—4)

IR h =02 & fIU 3radd FHIGOT %:x—yz,
X

0<x<l y (0) = 0 & fie-Rroe fafyr g1 &t
DI |

Apply Milne-Simpson method to find a solution of the
differential equation % =x—y?,0<x<1% y (0)=0
by taking h =0.2.

Si-qgl Y @ ffRed s@eda @HeRT & ol
y (0.1) @M y (0.2) &1 P TP ST BINT :

d
—y=y—x; y@0)=2
dx

Using the Runge-Kutta method, to compute y (0.1) and
y (0.2) upto order two for the given differential

equation :

d
—y=y—x; y(@0)=2
dx

YT qgUS B WM @R [0, 1] W y(t)=t® & for
A I Afedhe I By |

Using the Chebyshev polynomials, obtain the least

squares approximation for y(t) =t on [0, 1].
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ThIe—5
(UNIT—5)
wve-aret fof @1 fde IR |
Discuss on Monte-Carlo method.
RUSH AT Bl T S] B forg fbeit v fafer b avi
BT |

Discuss any one method for Random number

generation.
frferad W e fewforl foria
(i) Jged R o d

(i) fgug fa=r

Write short notes on the following :

(i) Random variate generates

(i) Binomial variates



